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June/July, 2010
LOGIC

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks : 100

( Kannada Version )
ZesT ¢ [N, FB Tone YOBBB NS F023,0305Y, F,R,70N SHRQA.
L 85 39N3 o, IFNen w0801 : 10x 1 =10
1) Q5RT rododesd ?
2)  ONET ORVTRT Q0T3eR ?
3)  TGT,RTIRITE), ANT Ir¥g cacdodde ?
4) T%e3 IZ,NTTY RRERWIBITE 7
5) QN FITHT FBTIXRIT 03332 7
6) RORTICONZ R0TTeR> ?
7)  W®TITL 3, 0TTER 7
8) W.RI%. ANO°TRT TySRENT BT BNYE), 2,003y, SROA.
9) 3o%c3 TR Tert YVOLZINI,T 7

10) Q2T AT39,030 TSTr3FT> O30T 7
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I 8 39NS CORRYTOTE0R I3, SR 2.00308 H8,M¢E), 038,08 :

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

RS Re3B03D ANTT / OTORPIT ANTT OTTER> ?

3BEHIT, NOTTERD ?

QANTIT IS Q0T3RS ?

RT3 T, BOBWNTE, LOTD YVTIBTH BRE.

FOITAC0IZ03 SITNL O3y ?

TYPET DOV OTTER 7

VITSHIT I BReR e LV0EIIMI,T ?

33,8060 BG 81 ORY, ATBEINY DOINYY 833,88 2T 7

Zodeen Q0TTE ?

0GR, /20088 YOBBL R Q0TTERD ?

B2IIRT OTTTWOI QNS O3 ?

DM Mt 3,Mes BRI ?

10 x 2 =20



III.

A)

B)
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83 BYNTYNYE, WNFTRTR Tew,d, 10-15 ToENRSE), w03, ORIy, LBoWD0 :

23)

24)

25)

26)

27)

28)

4 x5 =20
SpIaloPREM B AN leioIdata oo

TOFPLIE VTNRIT / BTN, TONEIT2 MBI,

P08, YOTBL),R03D ALWOZRNL.

&7, e3e3T 0I08, BRCR.

BTERBIT %@érﬁ%ﬁo / o38N,

3T BOBREN / W, OFT Q.

B3 BYNTYNYE), WBRFTRTR TN, TWeliNe ATOTAZTY, TWOdeDA, QTOA:

29)

30)

31)

32)

33)

34)

4 x5=20

ORZ WSS BRT T08T VTFBE, BRI, B3 008 Dl erEe

VT8, Fo0M.

Qe VT, BPERITTY, OORTYTRY, Wed,& eo3% ?

AT T, R QT T Toxd AF, SSLOTITEOTY, KB 6.

©LTIRIR BITFR 0N, 33 00T TBTHFRY QCTNT 308.

BN BTN, BN BOToN B[RSBToET T, NBOTT A

B30, 5, TNE) €03%.

BroBTRy, FRER. ETHB A0, T0eR,3 3.
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IV. A) 8 3$NIPYNYE) CINFTETR VRS, L0 0 : 2x5=10
35) F2TRT TZ&,03> T80 3B, WIAIRIT,T 73)83,030€) Fo00mTY, E9A.
36) ©F,03 B3 803> / BROTIAIBO LTIIRTI TI63 30D, TRERNTTY, TOA.
37) TI03FTITLD AOIVTITTY, WTOA.
B) 8 3$NIPYNEE), 0330000 wonE, Y08 DA : 1x10=10
38) QNTT 0B, ANTINSCRET TRDT TS)ANGTY, LTOA.
39) ,80e8 TTG 03T, L.0TD YOTTITTTHOSL0DTE TR
V. 8 39NT BRPYE0R RTRY FFnen ¢804 2x5=10
40) BORT X0TF, B 03308 FOTNTRY RRWEE,0 ?
41) ong, TANY LS DHOB0W0T AT, WRI0I =S LV0ETNE BOFBIRIRTY,
e3esF A,
42) T8y,e03 30383030 BTG,y L3 A.



II.
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( English Version )

Note : Write the main question and sub-question numbers clearly.

Answer all the questions : 10x 1 =10

1. What is the aim of science ?

2. What is Induction ?

3. Does analogy have Inductive leap ?

4. Can the postulates be proved ?

5. Who advocated the efficiency view of cause ?

6. What is probability ?

7. What is plurality of cause ?

8. Name any one of the experimental methods of J.S. Mill.

9. How does the logical fallacy occur ?

10. Who advocated 'Visishtadvaita' Siddhanta ?

Answer any ten of the following questions : 10 x 2 =20

11. What is simple enumeration / imperfect induction ?
12. What is parity of reasoning ?

13. What is inductive leap ?

14. Give an example for analogy.

15. What are the grounds of probability ?
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III.

16.

17.

18.

19.

20.

21.

22.

A)

B)

What is primary law ?

How does the fallacy of Non-Observation occur ?

How many instances are required for the method of differences ?
What is experiment ?

What is Barren Hypothesis ?

Mention the forms of scientific explanation.

What are the postulates of induction ?

Write short notes on any four of the following in 10 — 15 sentences

each : 4x5=20

23. Uses of Analogy.

24. Complete enumeration / perfect induction.

25. Conditions of Hypothesis.

26. Fallacy of Argumentum ad verecundium.

27. Conditions of observation.

28. The method of colligation of facts.

Test and explain the validity of any four of the following arguments :
4x5=20

29. He met with an accident after getting the divorce. Therefore

getting divorce is the cause of his accident.
30. Have you stopped condemning your parents ?

31. Tell the truth, otherwise I will break your skull.
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32. Sri Ram is son of Dasaratha. Therefore, Dasaratha is father of

Sri Ram.

33. You have no right to speak on democratic principles. Because

you are a communist.

34. Look at the horizon there, the sky touches the earth.

A) Answer any two of the following questions : 2x5=10
35. Mention the scientific view and popular view of causation.
36. Explain the merits and demerits of the method of agreement.
37. Explain the law of causation.

B) Answer any one of the following questions : 1x10=10
38. Explain the difference between induction and deduction.
39. Explain the method of difference with an example.

Answer any two of the following questions : 2x5=10

40. Which suggestions do you give for protection of Environment ?

41. Discuss the impact of increase in the prices of necessary products on
the common people.

42. Discuss the importance of National Integration.
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